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GRADE EIGHT EXAM (50 marks) 

I— VOCABULARY (8 MARKS) 

A) Choose the correct answer from a, b, c & d: (4x 1 = 4M ) 

1) Some .....................................................animals are kept in safe places to survive. 

a) fictional 
	

b) rare 

c) dramatic 	 d) complex 

2) If we take this road. It will..............................lead us to the next city on the map. 

a) forcefully 
	

b) destructively 

c) directly 
	

d) globally 

3) The clever inventor invented a machine to ...........................potatoes easily. 

a) peel 	 b) migrate 

e) sail 	 d) steer 

4)...........................protect millions of children from many dangerous diseases. 

a) flags 
	

b) edges 

c) voyages 
	 d) vaccines 

B) Fill in the spaces with the suitable word from the list: (4x1 = 4 M) 

lovingly I store / linked / burnt down / pressure 

5) The factory was burnt down but firemen were able to save all the workers. 

6) Scientist discovered that deep ocean water is under pressure. 

7) Modern computers can store a lot of information and data. 

8) The mother threw her arms lovingly around her baby. 
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II- Grammar ( 5 MARKS) 

A) Choose the correct answer From a, b, c &--d  (4x1/2 2 M) 

9) I didn't .............................go to school by car because it was near my house. 
a) had to 
	

b) have to 
c) had 
	

d) has to 
10) If you work hard, you ...............................get good results in all subjects. 

a) would 	 b) will 
c) could 	 d) going to 

11) We are hungry. Is there.........................to eat or should I go and get some food? 
a) anybody 	 b) no one 
c) anything 	 d) everyone 

12) Some islands, ...............there are tropical forests, are visited by many tourists. 
a) who 	 b) which 
c) that 	 d) where 

B) Do as shown between brackets (3x1 = 3M) 
13) They produced the first CD players in Japan. 	 (Make passive) 
The first CD players were produced in Japan 

14) Adel is doing his homework this afternoon and so am I. 	 (Make negative) 

Adel is not doing his homework this afternoon and neither am I. 

15) The engineers started early. They didn't finish the building on time. (Join using: although) 

Although the engineers started early, they didn't finish the building on time. 

III - LANGUAGE FUNCTIONS (6) 
Write what von would say in these situations (4x11/2 6M) 
16) Your father wants to know the best place you like in Kuwait. 

Talking about future plans 
17) Your best friend wants to know why you feel sad today. 

Giving Reasons 

18) Your brother spends a lot of time surfing the net and playing videos games. 

Advice! Warning 

19) One of your cousins says that TV is one of the most important inventions. 

Agreeing I Disagreeing 

Any reasonable answer is accepted 
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IV- SETBOOK QUESTIONS (5 Marks) 

A) Answer only three out of these questions (3x 1 3m.) 

Jzi 
20) Why do some animals immigrate or travel?? 

They look for food or a warm place. 	 -. 

21) People can help the environment, how? 

Planting more trees / Recycling the bottles I Reusing cardboard boxes [Reducing energy. 

22) What qualities should scientists have in order to make great discoveries? 

a- Good imagination 	b- A pile of junks / Enough knowledge. 

23) In your point of view, name two useful inventions that made our life easier? 

Phone / Plane / Car / Computer 

Literature time(2m) 

B:Answer only one out of these questions (lx 2 =2m.) 

24) Sometimes explorers make mistakes that may lead to disasters. Explain. 

They use gunpowder to make holes in rocks which may lead to volcanic eruption. 

25) What might explorers see during their journeys? 

Explorers might see strange fish and sea monsters and other creatures. 

ANY REASONABLE ANASWER IN ACCEPTED 



V- WRITING (12 MARKS) 

Communication is important because it allows people to share ideas, interests, and develop 
relationships. Without communication, it would be hard for the world to get in touch. 

Plan and Write a report of two paragraphs (10 sentences) about Communication and its 
importance. 

The following ideas and words may help you: 

-Paragraph one: How people communicated in the past 
send messages - tell stories - carving - painting - writing 

-Paragraph two: The importance of communication 
share - ideas - learn - cultures - exchange - knowledge. 

Exposition of ideas, paragraphing and number of sentences 8.5 

Pre-writing techniques( brainstorming, mind mapping, 
2 Grade outlining) 12 

8 
Spelling and structure 1 

Handwriting spacing and punctuation 0.5 

Writing plan(2mark) 
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-J4 )  

5 



L4ll 	 / 	kUl J...4 / 	1 	 443 

VI- READING COMPREHENSION (14 MARKS) 

Read the following passage, then answer the questions below: 
Building modern cities needs a lot of planning and a lot of time. Many countries design 

and build new cities to help in solving traffic and housing problems. Although Brazil is one of 
the richest countries in the world, much of it has not been developed yet. It was mainly for this 
reason that the Brazilian government decided to have a new city built 600 miles north - west 
Rio de Janeiro. Designed by the great architect Lucio Costa, the new city, Brasilia, replaced 
Rio de Janeiro as the capital of Brazil in 1960. 

Brasilia has been carefully planned for modern living. Its wide roads, which can take 
fourteen lanes of traffic, have been kept away from living areas. Children don't have to cross 
busy streets to go to school. Housewives can visit shopping centres on foot because in these 
specially designed living areas, cars are unnecessary. 

At first, the government had great difficulty in persuading people to leave Rio and to 
settle in Brasilia. Since 1960, however, the population has been growing all the time. Brasilia 
has quickly established itself as the capital of the country. The idea to have the capital moved 
so far inland will have a great effect on the future of Brazil. 
A) Choose the correct answer from a, b, c & d: (4x 2 = 8 M ) 
26) The best title for the passage could be................................... 	 - 

a- New countries 	 b- Future cities 
b- Traffic problems 	 d- City people 

27) The main idea in paragraph 2 is 
a- building new roads 	 b- designing a new city 
c- persuading people to hunt 	d- building modern schools. 

28) The underlined word" it"in paragraph 1 refers to ........................ 
a- Brazil 
	

b- government 
c- Lucio Costa 
	

d- Brasilia 
29) The underlined word population in paragraph 3 means....................... 

a- shopping centres 	 b- housewives 
c- number of people 	 d- capital city 

B) Answer the following questions: (3x2= 6M) 
30) What is the new capital of Brazil? 
Brasilia is the new capital of Brazil 
31) How is Brasilia different from Rio de Janeiro? 
Brasilia has been carefully planned for modern living/ has wide roads. 
32) Why don't housewives need cars while going shopping? 

Because in these living areas, cars are unnecessary? 


